NAME :								Form :
Date :
Test de mémorisation (C.E)
				
1°) YES or NO ? (justify a negative answer)
	Shelby County teenage pregnancy rate is 14% inferior to Kentucky.
---
	Memphis is in the state of Tennessee.
----
	These teenage mothers are, in a large majority, from a latino origin.
---
	Terrika planned to have a baby to quit school.
--- 
	
2°) Tick the right answer (only ONE)
									drunk
	When a girl is going has a really BIG belly, she is 		pregnant
									gross

					a student’s association
	« No Baby » is 	             a campaign
					a sect

3°) Complete the text (be careful with plural/singular, féminin and masculine forms,etc..)
Shelby County is confronted to a serious problem :(1)
Approximately  11 % of Frayzer’s (2) population is concerned.
 A new  campaign has been launched to fight  it ; it promotes (3) and (4)
The campaign will use twitter and (5). 
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